Class:

Topic:

Date:

Main Ideas/Questions

Notes

INDIRECT
MEASUREMENT

e Indirect measurement uses the properties of __S { i layv
tvian @ leg to find measurements that are difficult to

measure directly.

¢ One type of direct measurement involves _S hadows

EXAMPLES

Sample proportior:

height _ height
shadow shadow

Direcfions: Find each missing measure.

1. A flagpole casts a 32-foot shadow at the same time that Evan casts a
9-foot shadow. If Evan is 6 feet tall, how tall is the flagpole?

L - X Ax= 192
a 32 a 9
B:?_\? Pt
(2173)

2. A stop sign casts a shadow that is 4 feet long at the same time that a tree
casts a shadow that is 36 feet long. If the stop sign is 7 feet tall, how tall is
the tree?

1. X Hx=252
L} 36 4 4
X= (03 £4]

3. A 28-foot tall building casts a shadow that is 35 feet long. At the same
time, a truck outside the bvilding casts a shadow that is 16% feet tall. How

tall is the truck? 35x=472.5
28 _ X 35 25
35 10.875

| x= 135 P3] U3Y2)

4. A 45-foot water slide casts a 30-foot shadow. Find the length of the
shadow of a 4-foot tall child standing nearby.

4s _ 4 45X = |20
30 X Hs 45

{x——- 2. £+
Z%/32 £4)

5. Amara is 5'6" tall and casts a shadow that is 2 feet long. At the same
time, a rollercoaster casts a 120-foot shadow. How iall is the rollercoaster?

55 _ _X . 2 X = b0

—_—

2 120 2 2

X=330 {3—&2
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6. A lighthouse casts a shadow 32 meters long at the same time a nearby
statue casts a shadow that is ? meters long. If the statue is 11.25 meters

tall, find the height of the lighthouse.

.25 . _X_ AX = 360
q 32 q 9
X =HOm

7. The Arc de Triomphe in France is 164 feet tdll. If the arc casts a shadow
thatis 98% feet tall at the same fime a nearby street lomp casts a shadow
that is ? feet long, how 1dll is the sireet lamp?2

ded o X 9.4 x = 141
| ag.4 ag .4

%g.4

8. Clint is standing outside the Empire State Building, which is 1,250 feet tall.
If Clint is 6’3" tall and casts a 2.5-foot shadow, find the shadow length of

Empire State Building.
b.25X = 3|25

L2565 _ 1250
Zz5 = X -5 0-25

[x=1200 #

MORE
EXAMPLES

Surveyors also use similar triangles to find distances that do not
involve shadows. Given the diagrams, find each missing measure.
Round to the nearest tenth when necessary.

9. The friangles below are similar. Find x, the distance across the river.

g§2-5 X
Grand 15 24
x Ra.pids
s lex = 1980
24 s (5
825

Ix =132 £+ |

10. The triangles below are similar. Find the distance from Avon to Franklin.

Corolla_ 80 miles Frankiin

% 28 <« so
150 miles Avon 150 X
128 X = 12000
Q 128 128
Greece

Ryland 128 miles N
X = Q3.5 m |

(A33/4)
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Name:

Date: Per:

Unit 4: Ratio, Proportion, & Percent

Homework 8: Indirect Measurement

** This is a 2-page document? **

1. A é-foot tall observer casts a 3.5-foot shadow
at the same time a silo casts a 49-foot shadow.
How tdll is the silo?

b. . _X
3.5 49

3.5x =294
3.5 3.5

X =84 4]

2. A statue of Abraham Lincoln casts a 9-foot
shadow at the same fime the White House
casts a 48-foot shadow. If the White House is
70 feet tall, how tall is the statue of Abraham
lincoin?

ap = X, HgX =30
L 48 4g
X = 13.125
£+
(13%£+)

3. A 136-foot tall cell phone tower casts a .
79.9-foot shadow. Find the shadow length for
a nearby 40-foot telephone pole.

136 D
-5 12 136x = 190
1306 136
(23'2)

4. The Big Ben clocktower in London is
approximately 316 feet tall. Shana is standing
nearby and notices that she casts a 4-foot
shadow. If Shana is 5 feet tdll, find the length
of Big Ben's shadow.

3L, . 5

x —_

5X = 1204
l_i- ——— —_—

5 5
X = 252.8

£t
(262 /%)

5. A 36-foot flagpole casts a lo%-foot shadow,

while the hospital nearby casts a 37%-foot
shadow. Find the height of the hospital.
36 . %

015 37.628

ID.15X = 1854.5
0.5 1D. 1%

X = 12068

6. The High Roller, a giant ferris wheel in Las
Vegas, casts a 242-foot shadow. A 4'3" tall

man standing nearby casls a 2%-foot shadow.
Find the height of the High Roller.

.25 %
2.715 T oz42
2.15%x = \512.5
2.7 2..75

5
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7. A football player casts a 2%-foot shadow at

the same time a 30-foot tall goal post casts a
12-foot shadow. Find the height of the football

player.

,_3__0__.: X
12 2.l 34 _ 5.5
3.l X
12X =18
s o]
Cb' L")

8. King Neptune, a 34-foot tall statue that
welcomes visitors to Virginia Beach, casts a

lS%-foo’: shadow. If Janeis 5'9" talland is

standing nearby, find the length of her
shadow.

9. Find x, the distance across the pond.

A

11. If the mountain is 1.200 feet tall, find the

length of the ski lift.
j 4521t

Mountain
1200 4

S

1200 _
3o Hs2

3Lo0X = BY24s0
360 260

72
50 ft
90 ft
20 - Ao 50X = (48D
L X 50 50 2.0 2.0
Xzl | %=260 £4
(1293 o+ | X=2bo £
12. Find the distance from Lincoln Park to

Newport.

Lincoln Davison

b 52 Ty =5532.¢
lob.4 X e 16
X=T2.8mj

52‘4’123 = (124 Y%

XZ 15Dk 1 -P-f] (1806, %/3)
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Name: Pre-Algebra
Date: Per: Unit 4: Ratios, Proportions, and Percents

Quiz 4~2: proportion Applications & Similar Figures

1. Samantha plays on the softball team for her school. She strikes outtwiceevary | 1. b3 -H meées
nine times she is at bat. If she struck out 14 times this season, how many

times was she at bat? He hot doas
2 M 2% = 12t A ——
a9 % Ty 2 2z 3. 42:6 in (4273)
%=
5 4. 550 mi

2. Adam entered a 3-hour hot dog eating contest. During the constant, Adam
ate 4 hot dogs every 15 minutes. How many did he eat during the entire

contest? Shr= 1® min 5. I =85 m
e S S 5% = 120 q
15 S T 6._5
X =48

3. Tonya is making a scale model of a monument that is 160 feet tall. If she uses a scale of 4in. = 15 ft,
how tall should she make her model?

4= % 184 = 640,
15 §7%e) ) 15
)g—;qu;

4. The scale on a map reads %inch = 50 miles. If the distance between two cities on the map is 2%

inches, find the actual distance between the cities.

25 _ 2.15 25 % = 1375
50 X .25 . 25
X=550

5. An architect drew plans for a new bridge that is 425 meters long. If his plans show the bridge as 50
centimeters, what scale did he use?

50 . _I

—

425 5

6. If the figures below are similar, give the scale factor of Figure A to Figure B.

25
. 45 . a
A 36 20 25 5
& -
45
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For questions 7-8, the figures are similar. Find x.

7. 8. 7.x=24 2 (24 3/10)
18 27 14 m 2
x w 105 g.x=b- 75 Ll 23)
20 9
18 Ao 5. EB = 25
2> 27 X 0.5
10.JK = 1§
20% = 180 Hx = ‘HL-{S
20 20 Mo 11._120 £%
X=24 .2 X = (-15
9. Given AABC—-%I;B.E, find EB. 10. Given AJKL ~ ANPM, find JK. 12. 432 £+
a2 T~ ! M
2 2 5 126 /\ g 13. 231 £+
15 X
e Pliwos N 14._88 mi
c\/E35 L A K
39-2 _ 35 1S _ X
28 X q 10-9
39-Z% = 900 = AY = b2 =
39.2 39.2 X=25 q "%" X=1g

11. An 15-foot tree casts a shadow 20% feet long at the same time a nearby buidling casts a shadow

I+ feet long. How tall is the building?

Jds5 . o XL 20.15X = 7440 X =120
20.715 Il 20.715 2p-75

12. Norais 53" tall and standing near the 252-foot tall Pilgrim Monument in Massachusetts. If she casts
9-foot long shadow, find the length of the shadow casted by the monument.

525 . 252 5.26x = 22§
A X 5.25 5.25
X =432
13. If the lamp post is 16 feet tall, find r, the 14. If Pete drives roundtrip from Jefferson to
length of the rollercoaster. Fayeville, how far will be travel?
Fayeville Claremont
j X 21 miles
Apex
56 miles
32 miles
-
Bel Jefferso
b - 2] v = 3690 mont "
0 2 T o 32 -5 © Gina Wilson (All Things Algebra®, LLC), 2016
L X T2 Sbx=LI12 ),
r=23| 56 56 -

Y =4



Name: Class:

Topic: Date:
Main Ideas/Questions | Notes
in a Percent Proportion: One ratio compares a part of a
Per’cent’ quantity to the whole quantity. The other ratio shows the
equivalent percent written as a fraction over 100.
Proportion
J Depending on the wording of the problem, you may find the
following two formulas beneficial in setting up your proportion:
is - To | o part o o
of 100D whole 100
Directions: Use the percent proportion to solve each problem.
Examples 1. 18 is what percent of 402 2. What percent of 75 is 802
_\_—8—- = _.>_<.. .,82 = ,}S-
HO 100 15 oD
= =000 —
HO % li%‘?. w= yqg | | 18% ??7—5_ ‘x= 16T |
H0o 15 AL
3. What is 30% of 152 4. Find 8.5% of 160.
._X—- s 3.__..0 __X—- = __8'/5'
15 (o0 160 100
00X = 45D = gz 100X = 1360 -
100 10D X ‘f.- 50 Y5 X=13-lo
(4Y2) (133/s)
5. 28 is 4% of what number? 6. 86% of what numberis 77.42
28 - 4 17-4 - %06
X { 00 X 00
Lx=2800 [y = = 4D |
- g X= 100 | '3_;35 1 ;(,, X =95
7. Find 28.5% of 200. 8. 52is what percent of 1252
X, = 23.5 52 _ X
200 [ OD 125 160
[DOX = 57100 = 128x = 5200 -
oo roo X857 125 125 X=91.b
(4] 3s)
9. 7.5% of what numberis 212 10. What is 64% of 802
2l = 15 X o LY
X 10D 80 160
T1-SX= 2100 - 100 X = 5(2p —
X =280 ( X=5[-2Z
. ) |00 100
s (51 /5)
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11. What percent is 0.5 of 32

0 _ X
E} loo
3x = 50
EN 3

[x=1L0 ] Lus)

12. 103.2 is 48% of what number?

103.2. _ 48
N, /00
48 X = 10320
TH “4g
X= 215

Applications

13. A book collector has 425 books,

56% of which were published
prior to 1900. How many books
were published prior to 19002

X _ 56
H2s 1060

166X = 23800
[0D 160

B: 238 books

14. Twelve of the 28 dogs at the
shelter are purebred. What
percent of the dogs are
purebred?

15. Bethany uses 8% of her weekly
paycheck to pay for gas. If she
spent $34.12 on gas this week,
how much was her paycheck?

3412 . 8
X  loo

IN=3412

g
[x= ¥42,.50|

17. On the high school football
team, 62.5% of the players are
juniors and seniors. If there are
11 juniors and 19 seniors on the
team, find the total number of
players.

_,Q(ﬂ__§

100

loz.-Sx =3000
w25 L2 5

16. In Key West, Floridq, it is sunny
75% of the days. How many
days would you expect it to be
sunny in the month of October?
Round to the nearest day.

X = J5
3l 100

100X = 2325
100 100

X=23.25

day S

18. Jenna found that 15% of the
skittles in a bag of skittles were
purple. If there were 60 skittles
in the bag, how many were not

purple?

X - 15

b 100

100 X = 900
|00 100

X=9 & purple
0 -9 =51 skitthes]
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Name:

Per:

Date:

Unit 4: Ratio, Proportion, & Percent

Homework 9: The Percent Proportion

** This is a 2-page document! **

Directions: Use the percent proportion to solve each problem. Round to the nearest tenth or cent

when necessary.
1. Find 24% of 165. 2. What percent of 30 is 16.52
X o= 24 .
| 05 100D lg\.l 5 - 1 Xo
(0] o]
100 ¥ = 39L0
'I—OE 10D 30x = lL5D
30 30

@] (32 %s)

3. 24.39 is 9% of what number?

4. 2= is what percent of 202

w

X=9945]  (4993,)

X /0D 2k .
70 [00
Oy = 2439
- T4 20X = 260
a =0 2.0
X= 211 I =13
5. What is 48.75% of 2042 6. 16% of what numberis 142
X . 488 8 _ b
ZDL* [00 x )00
100X = Q945 lLx.= I400
{0D IOD l(ﬂ

I
X= _3_7-5-] (87'/2.)

7. 52 is what percent of 1562

150 - T&; 250 100
Bl¥X= 5200 100 X = 14800
156 1Sk 10D j00
X= 33.3| (3373) X=14% |
10. A school survey says that 75%. or 294 of the 8th

8. Find 59.2% of 250.

9. The Yankees won 90 of their 162 games last
season. What percent of the games did they

wing

a0, - X

o2 100 '
2% =000 Iy - 55 5
12 (55 5/a)

graders, have a celi phone. How many 8
graders are there?

2a4 __ 1s

X 100

5% = 29400

Bx=222  [x=z2

15 studends
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11. Kendall tends to spend 32% of her homework
time on math. If it took her 26 minutes to
complete her math homework, how much

12. Of the 250 passengers on the plane, 177

checked their bags rather than cany-on.
What percent opted for camy-on?

13. At Northshore High School, 87.5% of the
teachers have a master's degree. If there are
128 teachers, how many have a master's

time did she spend on homework? 3 . X
2L _ 32 250 100

X 10D 28D X = 1350
32% = 2L00 250 2P

z2 3% X = 29.2)

E« = 3125 wmi mm‘csj
(g174)
14. Mara put down 7.5% on the purchase of her

new home. If she put down $14,175, find the
purchase price of the home.

X =112 teachers

—

degree? 415 - 15
X . 315 X 100
28 e 1.5x = 1411500
100X = 11200 1-S .S
100 10D

i x:"leqpoo[

15. Guests to a wedding had to choose among
three entrée options: steak, chicken, or pasta
primavera. Of the 128 guests who
responded, 63 chose steak and 25 chose
pasta primavera. What percent chose

chicken?

Yo - X

[2¢ |00

[28x = H0D0 = .

S RE X = 31-257
(31 Y4)

16. There are 14 sixth graders, 29 seventh graders,

and 37 eighth graders in the musical at
Canon Middle School. If 65% of the students
in the musical are girls, how many are girls?

X - L5
D 100

100 X = 5200
| 0D lod

_{i(=52 girfsj

17. Thirty 8" graders signed up for running club,
however nine dropped out before the first

pracfice. If 46%% of the club are 8t graders,

how many total students are in the running
club?

21
X

Hi.C

loo

HeTX = 2100 e —

Hes quT

18. Jonah's grandmother gave him $125 for his
birthday. He used 14% of the money to buy
music on ifunes and 65% to purchase a new
hockey stick. How much more did he spend
on the hockey stick than on music?

X -4 R B~ N
125 1 DD 126 100
100x = 115D ooy = g).28
Too 1o Loo . 100
x211.5 y = €l-28

91.26 - 17.80 =|#,3.75]
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Class:

Topic:

Date:

Main Ideas/Questions

Notes

The percent equation is a quick way to find a part of a whole

Percent tity b ' I the _Whol€  byth t
. quan y_mu‘ligl%_x_r’g_ e y the percen
EAUa+i0N witten as a__decimald
[PA@T J = [WHD(_E ] o| %o ]
L Wiritten as a decimall
Reminder: To convert a percent to a decimal, divide the percent
by 100 OR move the decimal o the left two places.
1. Find 13,% of 90. 2. Find S‘?f% of 175.
EXaMPLes 012 0.9
(0.12)(@0) = |lIp-3 (0-aL)1715) = [lesl
3. What is 27% of 282 _ 4. What is 48.5% of 3002
(0-2D2g) = [1.5) (0-485)(300) =[14s. 5]
5. Find 2% of 138. . 6. What is 81.25% of 2482
(0.02) 138 = [2.14 (0-8126X248) =|20).5]

7. Kate spent 23% of her last
paycheck on groceries. If she
made $908, how much did she
spend on groceries?

(0-23>(908) =
¥ 7_08-847

8. Mark has only used 8.5% of a 34-o0z
bottle of shampoo. How many
ounces has he used?

0085 )(34) =
r2-8°1 o}
—

9. There were 80 golfers in the first

round of a toumament. Of the 80,

62.5% qudilified for the next round.
How many did not qualify?

(0.L25)(80) = 50

B0 50 30
9o l+ers |

—

10. Tom is a lawyer who makes
$132.000 per year. If his legal
assistant, Alec, makes 53% of his
salary, find Alec's salary.

(0-53)(132000) =
Lﬂ L, 9 uoj

© Gina Witson (All Things Algebra®, LLC), 2016




Name:

Class:

Topic:

Date:

Main ldeas/Questions

Notes

e Stores frequently discount or markup items.

Discomt « Discountsare_subtvacted  fomthe original price.
@) M e Markups are _ Q& Old ed to the original price.
arl(up e The_Selli ng R ric€ ({orsale price) is the amount the
customer ends up paying.
Directions: Find the discount and markup for each, then find the final selling
Ex:amples price. Round to the nearest cent when necessary.

1. jeans: $58, 15% off
5¢(0.158) = g.70
Bg-2.70= 49.30

Discount: #2.’]0

Selling Price: 4 49-30

2. tablet: $492, 20% off
Ha(0.20) = ag.4o
HaZ-4g .4 =393.6D

Discount: ¥9¢.Ho
Selling Price: ¥393.40

3. bike: $295.49. 60% off
295.49 (0.L0) = \117]-29
295.49-111-29 = 111-20

Discount: _ ~111-29

Selling Price: g' i1-20

4. microwave: $89.99. 5% off
2.9 (0.08) =4.5b
8199 - 4.50 T§5.49

Discount: # 4.50

selling Price: ¥85-49

5. wedding dress: $625. 3% markup
w25 (0.03)=18.1S
028 + 18.18 7 (,43.1S

Markup: # 18- 15

Selling Price: & PR

6. sofa: $1,490.95. 40% markup
1490 .95(0.-40) = 59(,.33

1=ap- 95 + 59.38 =
2081-33

Markup: *594.38

selling Price: ¥ 20£7-33

7. digital camera: $250, 12% markup
250(0-12) = 30
250+ 3D = 280

Markup: ¥30

Selling Price: ¥ 280

8. cell phone: $595.79. 25% markup
595.7°1 (0-25) “ 148.95
595.19 + 148.95 = T4y. 14
Ma'kup: 5 “’)‘8-015.
Selling Price: © 144 1

Sales T
& Tip

e Sales taxis a percentage added to the selling price.

e Atipis a percentage QO‘ d COL to the total bill.

© Gina Wilson (All Things Algebra®, LLC), 2016



Examples

9. Find the final price of a $849.99 10. Find the final price of a $325

laptop with 6% sales tax. lacrosse stick with 7.25% sales tax.
349.99 (-0¢) = 51.00 325 (.0128) = 2350
guq A9 £ 5= 325+ 2352 -

_#348.6(.0‘

11. A $105 waich is selling for 30% off. Find the final price of the watch if the
sales tax is 8%.

105 (30> = 31.5D
106 — 3|,5o:73-50
12.50 +5.88 = |¥79.33

12. A $125 DVD player is seliing for 10% off. Find the final price of the DVD
player if the sales tax is 5.5%.

l125(.10) =12 50
(26 -12.50 = 11250
12 .50(.055) = L,.19

112.50 tl-19 =[5 11g.L9

13. Kaly bought a $76 dress at 33% off and a $52 pair of shoes at 15% off. If
sales tax is 6.75%, how much did she pay in folal?

TG (+33) = 25:08 | s0-qz +44:20 =

512

- 25.08=592 | a

- 25-08 =507 | a5.42 (-DLIS) T L.H2
52(15) =180 b 9542 + L.4z F¥lol-S 4]

52 -7 g=ud-20 |

14. For parties of six or more, a restaurant adds a 20% gratuity (or tip). ifa
dinner bill for a large parly comes to $148.25, find the total dinner bill with
tip.

(48.25 (-20) = Z29.w5S
4. 25 #29. S F171790

15. Greg and Alana went out to dinner. Their dinner bill came to $68.89.
If they had a $10 coupon and left a 15% tip, how much did they pay in
total?

bg.ga -10 = 58.89
5¢.€9 (-15) = 8-§3

5g.¢a Y 8.83 :

© Gina Wilscn {All Things Algebra®, LLC), 2016



Name:

Unit 4: Ratio,

Date:

Per:

Proportion, & Percent

Homework 10: Discount & Markup

** This is a 2-page document? **

Directions: Find the discount and markup for each, then find the final selling price. Round to the

nearest cent when necessary.

1. printer: $149, 18% off
I44(0.13) = 2 82
Mq -26,.82=122.1%

2. necklace: $95.19, 75% off
95.14(0-15) = 11.39
05.19-11-39 = 23.80

3. kayak: $329.95, 33% off

329.95(0.33) = l0g.8%
329.95 - 108.8% = 221.07

Discount: ¥ 20 €2

Discount:

€ 11-39 Discount: :ﬂwg 88

selling Price: > 1 22.-18 selling Price:

%22.20 Selling Price: ¥221.07

4. book: $39, 7.5% markup
34 (0.0715)= 2.93
3942 .43 =41.93

§293

Markup: Markup:

5. television: $479, 40% markup
419 (o.40) = 191. LD
41a4al.

é. car: $15,558, 28% markup
15558 G28) = 435024

LO=(10.LD| 15558+H35b. 24 =
114 24
s"?']‘:"l\’lﬂo Markup: ¥ 4350.24

Selling Price: § 4193

selling Price: _ ¥ 101D

selling Price: ¥12914 .24

Directions: Read each problem carefully! Round to the nearest cent when necessary

7. Jack's bill at a restaurant came to $52.31.
He wants to leave a 15% tip. How much will
the new total be, including tip?

52.31(0.18)= 1-85
52.21+ 785 30L0.10

8. Kemy bought a bag of dog food for $37.99.
if sales taxis 7.6%, how much did she pay in
tax?

32799 (0.0710) 2¥2.89

9. Taylor bought a Keurig for $141.99. If she
had a coupon for 15% off, how much did
she save?

1.9 (0-18) =i$ z|.3o|

10. Hotel rates are marked up 30% on a holiday
weekend. If it's Memorial Day weekend
and the nightly rate at a hotel is normally
$219, find the new rate.

219 (0-30) © (Lb5.70
219 + L5.710 3¥284. 10

11. Brett likes to tip his taxi cab drivers 20%. If
his cab fare came to $38.75, how much wiill
he tip the driver?

3g.15 (0.20) = P"HS |

12. Find the final cost for a $479 laptop with 8%
sales tax.

U419 (o.o8) = 38-32
Ul1q + 38.22 51132

© Gina Wilson {All Things Algebra®, LLC), 2016



13. Jamie took her family out for dinner. The
bill came to $84.68. If sales taxis 9.5% and
she plans to tip 20%, how much will she pay
in total? Assume that the tip will include the
dinner with tax.

€418 (0.0a5) = 804
g4.Lg + .04 =212

— -

— —_—

q2.12 (0.20) = 18.54

92.12 + 18.54 =Ful.2¢]

14. Zach needs a new pair of running shoes.
The pair that he wants regularly sells for
$129. If they are on sale for 24% off, how
much will he pay in total if sales taxis 6.4%2

12a (p.24) = 30.9 0L
124 ~ 30 AL =98.04

—

ag.od (0.0ed) = L.27
g .o+ -2 -““104-3 [

15. Robin ordered pizza and opted for delivery.
She prepaid $48.95 over the phone using
her credit card and plans to give an 18%
cash tip upon delivery. If she has $7, will this
be enough to cover the tip?

Hg a5 (p.18) 2.8 |

No, she hnerds 9221
’h? lg“/a». A

16. Because of demand, concert tickets that
normmailly sell for $89.99 each are marked up
20%. If Mark wishes to purchase 8 tickets,
how much will he pay in total?

89499 (0.20>= Ig-00
2999 + 18.00 #5799

—

—
—_—

Ib7.99 (8) <

¥ 8&3.":7_'

17. Cora is buying a $109 dress for the school dance. She has two coupons, one for $10 off and
one for 15% off. If she is allowed to use both, is it better to take the $10 off first, then the
15%2 Oris better to take the 15% off first, then the 10$ off? Justify your answer by giving the

final prices.
loa -0 = 99 I oo (0-18) = 1b,-35 1|41l be
Q01 (p.18) = 1485 I 109 - 1,36 = q2.b5 [Chtaper 1o
Ao - 14.25 =#84.15 | az.05 10 ~%g2.06 |5€ Hhe 15%
| ) . - ' loefore the
: i I0_Coupovt -

Jeans }
T19(.38) = 27-L5
Ta-27.65 = 51.25

Po los :

I
5(.35 (3) = 1b4.05

18. Brett bought three pairs of jeans and five polo shirts. The jeans that regularly sell for $79 were
35% off and the polo shirts that regularly sell for $39 were 15% off. If sales taxis 5.75% and he
gave the cashier $350, how much did he receive back in change?

| 3 (.15) =585 !
20 -5.85 = 33.15

[ 3305 (5) = 1515 |

I 154.05 + 1bs .75 =31(9:80

2319 .36 (b.0575) = 18.39
|34 .80 + 18.34 = 338.19

-
-

y 350 -328. 19 -8
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Name:

Class:

Toplc:

Date:

Main Ideas/Questions

Notes

PERCENT
OF CHANGE

A percent of change is the ratio of the
amount of change to the original amount:

[P«waun:t of Change

Veveend of C)MMCJ =

[Oﬁ'q'ma,e Aot |

» When the original amount goes gg ,it'scalled a PCTCCM

T7Y; PES 1nexease. .
0‘@ » When the original amount goes dmgn ,it'scalled a mﬂm
C A Aeciease .
Beth bought a $75 pair of jeans for $60. Find the percent of change and
EXAMPI_E c classify as a percent increase or decrease.
WO -715 -\5
= - — . 2 4/
95 — O.20 - | 20%
oecrease
Directions: Find the percent of change and classify as a percent increase
YOU TRY! or decrease. Round to the nearest tenth of a percent when necessary.
1. John went from weighing 140 2. The computer that sold for $815
pounds to 155 pounds. last month sold for $925 this
T \Ho 14D 025-815 . _lD
g5 815
= 0.107 ~ 6.135
[10-7% increasel 12.5% incrreasel
3. Last year, the debate team had | 4. Karen's old car got 25 miles per
25 members. This year, the club gallon. Her new car gets 31 miles
has 18 members. per gallon.
18 -25 _ - -
872527 - pag | 3225 L - 524
25 25 25 25
28% decrease | FZ-H% increase]
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5. lan worked 25 hours at the
grocery store last week and 36
hours this week.

3b-25 _ )

Al = a.gd
75 5 - &4

BL& T increas®

8. The football team scored 128
total points last season. This year,
they scored 144 total points.

4y -128 o -
12€ 128

11.1% increasa

7. The store ;mployee changed an
$8.00 price sticker to $2.50 and
placed it on the sale shelf.

250-8.00 _ -55
Q.00

= -

3 0.8

L8159 decreac ej

5. The police officer gave a woman
a ticket for driving 75 mph in a 55

mph speed zone.
15 -55 —
- 2% - 0.3¢

55 55

E;.’Tp Y ncrea&c’j

9. The total rainfall was 14.5 inches
in 2014 and 8.90 inches in 2015.

8A-Ms5 . Bl
4.5 14.5
R-0.330L

38 .%o deureas el

10. Rob took 75 minutes to finish
his 6t grade math final exam
and 1 hour and 40 minutes to
finish his 7t grade math final
exam.

we-15 _ 25 —-
15 95 03

33.2%0 ‘mc_rg&gg

[11. In Mr. Wahlen's math class, Erin
earned an 88 in the 1st quarter
and a 94 in the 2rd quarter.

4 -388 b

2% g%

= 0.068]1

L b 8170 _ingeace]

12. The enroliment at a university
increased from 14,000 to 14,000

students.
14000 14000
2 0.143

14.3% _inweas e

13. The florist sold 800 roses last year
on Valentine's Day. This year,

the sold 638 roses.
LW38-R0D _ -2 .
e - —

20259 odecrase!

14. The goif club paid $40 for a
certain golf club, then sold it for
$75.

15-40 | 35
= 70

= 0-8715

31-5% LNc rca,gc]
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Date: Per:

Unit 4: Ratio, Proportion, & Percent

Homework 11: Percent of Change

Directions: Find the percent of change and classify as a percent increase or decrease. Round
to the nearest tenth of a percent when necessary.

1. The laptop was marked down from $895 to
$720.

2. In the 2006 season, Tom Brady threw for 3,529
yards. in the 2007 season, he threw for 2,806

- -1 yards.
—lz—oé%{ ;-—;—5- %-‘O"q‘a 280{0“3623 - ~_22—3—N "O-ZOS
3529 3529
19 -7 _decrease | 20 5% decrease
3. The Smith's home was worth $102,500 in 2013 | 4. Brandon bought a pair of sneaks for $55 that
and $111,000 in 2014. had a regular price of $90.
1ood - 1p2500 _ gsoo 55-Ap _ .a5 —
162500 02800 ~ 0083 g5 * a0 - 038

Sﬁw

i

5. During the winter, the grill was marked at
$85. In June, the price was changed to
$110.50.

110.50-85 - 25.60 _
— g5 g5 030

0 9o in;ﬂ‘:&@

é. Sarah started her diet on January 1t at 198
pounds. By the end of the year, she
weighed 112 pounds.

—

N2-198 _ g,
—ag - Tos- 0.43
[42.929, decreasel

7. Nate scored an 990 on his first attempt on
the SAT and a 1140 on his second attempt.

40 -09D 50 _ . —
— qolD_ - E’a'b = 0.1s

15.15% increase |

8. There were 795 runners registered for the
marathon in 2015 and 1,208 in 2016.

(1208 -5 _ 4I3
195 195

5199 in_uc::as_a

X 0.519

9. The basic model of a car retails for $24,595.
The platinum model of the same car retails
for $32,900.

-2 _
32900 - 24605 - 8305 -—%% = —8—% ~-0.140
24525 205n5 ~0.333
33" e leﬂM

10. The average high temperature was 86° in
August then 74° in September.

11. This year's school enroliment at Brookhaven
Middle Schoolis 1,524 students. Last year,
the enroliment was 1,398 students.

1524 ~1398 . 120
1398 i3ag * OO 1582 | - .
) g2 :
A% increpse | g.890 decrease]

12. Marshall's dog weighs 82 pounds. The vet
said 75 pounds would be more ideal for his
size. What percent of his weight does he
need to lose?
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Name: Pre-Algebra
Date: Per: Unit 4: Ratios, Proportions, and Percents

Quiz 4-3: Percents
Use the percent proportion of percent equation to solve. Round to

the nearest tenth or cent when necessary. . T Y
1. Find 12% of 145. 2. What percent of 104 is 91?
_X_. = __‘_%—__ ql . _)L 2. g75‘70
45 oD Tod  ToD
0o X = 1140 loﬂ><=°l_il_9‘_0 3. L5
160 |DD (o4 0
X=17-4 X =875 4, 5‘_’ T
. 3.
3.20.815 32% of what number? 4. 21 is what percent of 40? 5. 24 O arades
20-% _ 32 2l - X J
X 10D o 100 6. H35 minuks
32x =200 - Yox.= 210 -
32 32 X =5 40 4o x= 24 7. %55
5. The marching band at Parkland High School has 128 students. Of these, 8 ¥g¢3.4db
18.75% are ninth graders. How many ninth graders are there in the band? *
X = 1815 DO X = 2400
128 100 100 100
X = 2H

6. On Reese’s most recent phone bill, 80% of the minutes she used were from calling her mother.
If she talked to her mother for 348 minutes, how many total minutes did she use?

348 _ ep RO X = 34800
X 0o €0 <0
X=435

7. A sweater originally cost $32.75. Last week, Kayleigh bought it at 20% off. How much was
deducted from the original price?

22.715(0-20) = (.55

8. A pair of rollerblades is on sale for 35% off the original price. If the original price is $128.40,
what is the sale price?

[2€.40 (0-35) = 44.9Y4
12¢.40 - 44.94 = €3 .46
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9. The price per pound of lobster was $2.94 per pound. Due to a limited

%)0.
supply, this price per pound was marked up 30%. If a Logan buys five 9 [9-10
pounds of lobster, how much will he pay?

2 -94(0.20) = 0.8%
294 4088 = 3.82

2.22(5) = 19.1p |10 #75.99
11. F102.371

10. Carson bought a coat for 40% off the original price, then another 15%

12. #5642
off the discounted price. If the coat originally cost $149, what was the
final sale price that Carson paid?

140 (0.4 0) =59 - O
140 - 9.0 = 89 .40

go.40 - 13.4| = 15.99

——— e, ™~

11. Madelyn wants to buy a dress priced at 94.79. If the sales tax is 8%,

%9 .40 (-18) = 132.4]| 13. 5% inwease

14. 1.21% decresse

! 15. 8% inctrease
what is the total amount she must pay?

(He
4.7 (0.08) = 1.5%
qd.719 + 158 = 1p2-377

12. Shane is buying a pair of sneakers that regularly cost $59. If they are on sale for 10% off and sales
tax is 6.25%, what is the sale price of the sneakers induding tax?

60y (-10) = 5.90 | 53.10 (00 25)= 3.32
Bo-5.90 = 563.10 '] 53.10 +3.22 = 5,.42

For questions 13-15, round to the nearest tenth of a percent when necessary. Classify each
as a percent increase or percent decrease.

13. The price of gas was $1.80 in September then $2.07 in October. Find the percent of change from
September to October.

2-071- 1.0 _ 0.27 = 5.5
1-80 |.€0

14. The number of tourists at the beach per weekend in July was 55,000. In November, the number
of tourists per weekend was 18,000. Find the percent of change from July to November.

(8OO0 -B5500 D -21000

585600 B 55000 = -2

15. It cost $154 for Carla to get her hair done. With a tip, the total cost was $180. What percent of a tip
did she leave her hairdresser?

180 -154 - 20U
Is4 T3 = Olug
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Name:

Class:

Topic:

Date:

Main Ideas/Questions

Notes

> Interest is the amount of money paid or eamed for the use of money
by a bank or other financial institution.

I S_:_ I 121' » For borrowing money (loans, credits cards, etc.), interest is paid.
niere o For saving money (savings accounts, investing, etc.), interest is
eamed.
ool bloms invoni I=_Amsuindt ot intrest
o solve problems involving
Slmple simple interest, use the formula: | 5= Prinuple 1nvestmenst
Inferest - Rate (as a deci mad)
Formula I-= prt
t=Time (in tjf’ou's)
Directions: Find the simple interest to the nearest cent.
F]nd[ng 1. $675 at 4% for 3 years 2. $900 at 8% for 5 years
Interest | L=t o2 T =900 (6.03)(s)
2 7#:}3‘ (I = $34,0
3. $225 at 5.4% for 2 years 4. $1,295 at 9.25% for 4 years
T=225(0.054)(2) T =1295(0-0925)(H)
T =°24-30 T - 5471915
5. $14,095 at 3.8% for 5% years 6. $2.200 at 7.5% for 3% years.
T=140a5(0.038)(55) |I =2200(0.015)(3.25)
[_I =§2q45.9(n T 5953("_2@
7. $460 at 2.99% for 6 months 8. $1,849 at 7% for 18 months
T = 4o (0.029)(05) | T =184 (0.01)0).5)
T=%,%88 | T = %194.i5
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Applications

Directions: Assume each problem refers to simple interest. Read carefully
and solve. Round to the nearest tenth or cent when necessary.

9. Marsha borrowed $8.975 at a 4.9%
interest rate to purchase a used
car. How much total will she have

paid after 5 years?
T = 8975 (0.044)(5)
L =219%.83

39715 + 2192.98 =

[5)) 173 sg]

10. Carolyn borrowed $38,500 to pay
for college. If the interest rate is
3.2%. how much total will she

have paid after 10 yearse
I =39500 (0.032)(I0)
I =12320

28500 +12320 =

\3501820

11. Victor used a 36-month line of
credit for $15,000 to remodel his
kitchen. If the interest rate is 2.5%,
how much will he pay in interest?

=15000 (0.025)3)

@: 1125 |

12. Lance placed $5.200 in an
invesiment account with a 6.5%
interest rate. After how many
years will he double his initial
investment?

5200 =65200 (0.065)T

52.00 = 333¢
23% 3358
5.4y ]

13. Shane took out a 5.5-year loan
from the bank in order to
purchase a $12,000 motorcycle.
At the end of the loan, he had
paid $3267 in interest. Find the
interest rate.

32,71 = 12000 (V)(5.5)

32L7 = LLo0OFr
(L0o0O b 6000

O.0495 =v = 111.01574

14. Gabby used a 2-year loan to
purchase a $1,650 television. If
she ended up paying $1.9214in
total, find the interest rate.

26 = |50 (r)(2)
2H = 3300F
2200 3300

0.08 = v _>

15. Elaina started a savings account
with $3,000. The account eamed
$10 each month in interest over a
S-year period. Find the interest
rate.

16. Alex bought a new boat with a
15-year loan at a 2.4% interest
rate. If he ended up paying
$8456.40 in interest, what was
the purchase price of the boat?

3000 + 10(L0) = 3600 s45L - 40 = p (0-024)s)
- - $Hsb. 4O = 0.3(p£
(OO = 3000 (&(5) 0.30 0.-30
(DOO = l5000 | é’ -~
15000 15000 J 23490 d
0.04d =r = |47
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Name:

Date: Per:

Unit 4: Ratio, Proportion, & Percent

Homework 12: Simple Interest

** This is a 2-page document! **

Directions: Assume each problem refers to simple interest. Read carefully and solve. Round to the

nearest tenth or cent when necessary.

1. Find the amount of interest eamed in an
account with an inifial deposit of $800 for 15
vears at an interest rate of 3%.

T =¥00(0.03)(15)

('I__s 300

2, Find the amount of interest owned for a $1.895
loan for 4 years at a 7.9% interest rate.

= 1§95 (0-072)( H)

E “5% 22 |

3. Beth took out a 12-year loan for $35,000 for a
new pool. If the interest rate is 10.2%, how
much will she pay in interest2

T = 350006 (0.162)(12)
T = 942840 |

4. How much interest will be eamed on a $4,000
invesiment at 2.25% for 60 months?

T =000 (0.0225)(5)

[T=9us ]

5. Caleb bought a $795 necklace for his wife's
birthday. If he bought it on credit with an
interest rate of 16.25%, how much total will he
have paid after three years?

T=795(0.1025)(2)
I= 3¢7.50

1954+ 387.5b =¥ 118“2-5(4

é. If $600 was placed in a savings account with
an interest rate of 0.5%. find the total amount in
the account after 8 years and 3 months.

T = L00(06.005)(g.25)
I =245

koo +24.75 FHy2475]

7. Trevon invested $1,500 in an account with an
interest rate of 4.25%. If he plans to retire in

18% years, how much total will be in the

account?
T = 1500 (0.0425)( 1€-5)
T = N1.3%

1500+ 1117.38

8. Anna bought a new computer for $859 using a
24-month loan with a 18.99% interest rate. How
much will she have paid in total at the end of
the loan?

T =259 (0.18994)(2)
T =321.25

359 t326.25 = [151135.25
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9. After seven years, an initial investment of $600
earned $84. Find the interest rate.

4 = L 00 (v¥()

$H = 42007
g2 H200

0.02 =v = lza),,!

10. At the end of a 10-year ioan, $13.570 had
been paid in interest. If the initial loan
amount was $23,000, find the interest rate.

1357170 = 23000 ( r)(10)
[3570 = 230000
230000 .——ZBOOOD

0.059 =v = |5.9%

11. Ryan took out a 66-month loan to pay fora
$28.500 car. If he paid $33,829.50 in total at
the end of the loan, find the interest rate.

5329 .5 = 28500 (v) (5.8)

5329.5 = 1501750
15,7150 15,150
0.034 =r >13.49,

12. Allyson took out a loan for $8,500 to pay for a
trip to Europe. If this was a 4 year loan in with
monthly payments of $212.50, what is the
interest rate?

212.5 (Hg) = 10200

1700 = 8500 () ()
700 = 34000 v
34600 34000

0.05 =vr >

5%

13. Find the initial deposit into an account that
eamed $448 at an interest rate of 2.8% after
10 years.

443 = p (0-028)(16)

bhyg = 0-28p
0.23 0.2%

1L0O = ¢

14. Jane took out a loan for college with an
interest rate of 5.75%. She does not have to
make payments on the loan until she
graduates in four years. After four years,
the loan has increased $11.9640 in interest.
Find the original amount of the loan.

WaLo = p (0.0575)(H)

a0 =0-23 p

0.23 0.23
IE: ‘#521000

15. Howlong will it take a $2.000 investment to
eam $544 in interest at a 1.7% interest rate?

54y = 2000 (0-01 Dt

544 = 34t
34 34
b=t

Eu: Years

16. How many months quicker will a $600
investment double at an 8% interest rate
compared to a 5% interest rate?

oo = 00 (0 -08)T

b0o = gt t,212.5 Yrs
g 18

Y = 00(0.05)t

o0 = 30t =20 yrs
30 30

20-12-5= 15 yrs +90rho)
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Unit 4 Test Study Guide
(Ratio, Proportion, & Percent)

Name:

Date:

Per:

Topic 1: Ratio & Rates

Use for questions 1-3: A fray of muffins contains 10 chocolate chip muffins, 12 blueberry mufiins,
2 pumpkin muffins, and 8 corn muffins. What each ratio in simplest form.

1. pumpkin muffins to chocolate

chip muffins
5]

2.10 =

2. bluebemry muffins to com
muffins

2.8 = EB 52[

3. chocolate chip muifins to
total mufiins

10:32 >[5:14

Wiite each ratio in simplest form. (*Remember to convert the measurement!®)

4.8feetto 6 yirds
13+

Ig > ,'—}ﬂ‘

5. 76 centimeters to 1 r;:eier
joocim

! 100 l[q;25'

6. 6 cups to 4 \'p’in'rs
3 cups

L:g > [3:H4 l
7. 9 gallons to 21 quarts 8. 45seconds to 2 I:furs 9.4 lears to 8 months
v ,
3 gqts 1200 séc 48 w0
3021 > [12:7] 45:7200 > (11140 Hg:g = [wil]

Round the nearest tenth or cent when necessary.

10. In five games of bowling, Gabe's combined 11. It took Ciera 24 minutes to drive 18 miles. It
score was 380. Find his score per game. took James one hour to drive 46 miles. Who'is
39D driving at a faster rate? _

= :L‘T(o[qamc cieva: 24 _ 1.2 min/mile
, 18
Joumes | 42 = 1-30 min/mile

Determine if Option A or Option B is the better deal. Ju your answer.

12, 13.

Q Option A: 2 ibs of pears for $1.98 f"‘l‘l/ lb) l!l/ Option A: a pack of 6 pens for $4.74 @.'ﬂ/
o Option B: 5 Ibs of pears for $4.60 i.q 2{Y) Q Option B: a pack of 15 pens for $12.19 (¥. 8

ber)

j/pen)

Topic 2: Proportional Relationships & Solving Proportions

Determine if a proportional relationship exists. If yes, give the constant rate.

14 Np! 5. yeés, 2.5in/nr
Minutes 1 8 18 32 Hours 2 6 8 14
Calories Bumed 9 72 162 | 256 Snowfall (in) 5 15 20 35
J v N v : . 25 25 25 >
. 1 : -5
cal/min: & a4 o g n[hr
Determine if the rafios form a proporiion.
5 3 5(](9-2) = Z’](Z) 34 25 3"}('7): Q(Z5)
16, —, — Sl = 17. —, — 2 3% 225
27 16.2 7 97 ;
l:{ cS! No.

P Stm——
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Solve the proportion.

x _15 = 20_36 =
18 = 1O = 180 9. = Zom= 342
10 H0 2.0 20D
[X=15] (=11
T (1) (7 "%0)

20. In a cookie recipe, 1% cups of milk makes 16

cookies. How many cups of milk are needed
to make 24 cookies?

—

21. Runners in the half marathon entered in three

waves. There were 341 runners in the first
wave, 295 runners in the second wave, and
3146 runners in the third wave. {f seven out of
eight runners finished the race, how many did
not finish?

b X lbX.= 4O
o 24 To 1L é,: _% gX = 952
95 € 3
X= 19
yunners
Topic 3: Scale Drawings & Models

22. On a map with a scale of 0.5 inch = 75 miles,
the distance between two cities is 2.75 inches.
Find the actual distance between the cities.

23. A model of the Cape Hatteras Lighthouse uses

_Qf‘—: 215 05X =20025 g 20 % = 1LgD
i X 0.5 0.5 30 T 210 20 =0
X=412.5 X =56 in

mi TS | L.
G41242) 32%1‘

a scale of 8 inches = 30 feet. If the actual
lighthouse is 210 feet tall, how tall is the
model? Give your answer in feet.

24, Nate made a model of the USS Massachusetts
Battleship that is 3 feet long. If the actual
battleship is 681 feet long, what scale did he

25. Mr. Willis is building a new dock at his
lakehouse that will be 35 feet long. If the
blueprints show the dock as 16 inches long,
what scale was used to create the blueprint?

use?
3 =3 e (b =i L
bel =3 221 35 iU 2-1875
£+ = 22784 | [lin = 2.1815 +4]
—J — r )
L . (22h6)
Toplc 4: Similar Figures & Indirect Measure
Use the similar figures below for questions 26-27. 26. Give the scale factor of Figure A to Figure B.
3l —=
T3
24 32 k.
A 27. Give the scale factor of Figure B to Figure A.
18 =13
36 24 H]
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If the figures below are similar, find the value of x.

%, - 12
18 % 30
N\, Tax-teo

29.

10.5
133

18 g
— = 10.5_ 13.3
m {X— 23".3 " <
(22373) 05X =199.5 [(T]
0.5 0.5
Use the given information fo find each measure.
30. Given ACDE ~ AKIM, find DE. 31. Given AQRS ~ AQTYV, find RS.
K X - 15 e -8
x M 12 L gx= 180 2 x X< 208
g 8 : To 1o
E X=22-5 Q 16 v 1w S
ts (222) D

32. A flagpole casts a 20-foot shadow at the
same time Lexi casts a 5foot shadow. If
Lexiis 5'9", find the height of the flagpole.

33. A 15§00t street lamp casts a 9-foot shadow. If
the street lamp is near a 71-foot building, find
the length of the shadow casted by the
building.

575 . X, 5% = 15
= T 20 = 5 \s _ 1l 15X = 39
‘ 5
= 22 57 9 X 5 15 |
' Y =H2.pH
_ (H23/s)
Use the diagram below to answer questions 34-35.
Grocery 34. Find the distance from the bank to the grocery store.
Store 3 -5 5X = 24
Gas X X 3 5 S
Statlon 5 mi liamlxami Movie X=4.8 W\l7
Theater 35. Find the distance from the coffee shop to the grocery
8 mi store, then back fo the bank.
Shop
Topic s: Percents
36. What percent of 80 is 182 37. Find 42% of 135. 38. 10.2 is 21.25% of what
12 _ X X - 42 number?
E 125 ~ 700 lo).(Z: 2)-25
- 100
= 8O0 [1DO X = 507106
8&;( %’—5 (o0 10D 2129 ’01255
— 212 2]
[X=3224 X=541] NECT:
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39. At Wally's school, 30% of the students are in
8h grade. If there are 470 students total, find

the number of 8t grade students.

= 30

470 100
100X = 14100
| 0D 100

[x: 14 | S“hAddVDE]

40. Laura spent 78.5% of her paycheck on her
mortgage payment. If her mortage was
$1.226.17, how much was her paycheck?

1226207 _ 185
X 100
185 X= 1226 171
I%.5 %5

X7 15,2 |

41. A stereo that regularly costs $429.99 is on sale
for 35% off. How much money will be
discounted from the regular price?

H29.aa (0.35) 3%15p. 50

42. Gas prices are typically marked up for holiday
travel. If the prices are marked up 17.5% and

the regular price per gallon is $2.40, how
much will Mitch pay for 16 gallons of gas?

2.40017175) = 0.H42
Jupto.U2 = 2.82

c—
—

ﬂquZj

—
—

-—

2.2 (1)

-

43. Claire is buying a new bicycle for $295. if the
sales tax is 4.75%, what will she pay in total?

295 (0.04715)=14.01
2a5 +14.0 | :M

44. A $1,349 television is on sale for 20% off. If
sales tax is 8%, find the price of the television
including tax.

1249 (0.20) = 2[,a §O
1249 - 20980 = |0719-20
1

#11@5.5'1[

a—

lo"[ol.zo CO°08) =
lo7101.20 + 8l:34 =

45. The Bames family has a coupon for 10% off
their dinner. If their bill comes to $82.50 and
they wish to tip 15%, what will they pay in
total?

$2.5D (0.10) =3.25

82.Sb - 8-2574.25

L1
325,29

4. 25 (018) =
14.26 + (.14 -

46. A sign above a basket of DVDs reads “3 for
$17." Kellen decides to buy 6 DVDs and use
a coupoen for 25% off. If sales tax is 6%, what

will he pay in total?

2. Ll = ]02 _
7= X 3—325 5= X=39
34 (0.-25) = .50
34-9.5 = 25.5D
25 .50 (0.0k) =1-53

25.50 + [.53 #%27.03]
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47. Manny bought a car for $32,985. Five years
later, the car was worth $19,500. Find the
percent change in the value of the car.
Classify as a percent increase or percent

48. A painting that sold for $4.500 in 2013 is now
worth $7.900. Find the percent change in
value from then until now. Classify as a
percent increase or decrease.

decrease. -
195D0 - 32985 1900 - H5DO
22 g5 H5D0
= - 13485 = 3900 .95
z2ag5  ~ 0409 H5D0 L
40 9% dec F?ES 2 increase
Topic 6: Simple Interest

Assume each problem below refers to simple interest. Round to the nearest tenth or cent when

necessary.

49. Suppose $3.750 is placed in a savings account
for 4 years. Find the interest eamed if the
interest rate is 1.85%.

T =215 (0.0185)(H)

[T-%277.5)

50. Simone bomrowed $13,500 from the bank to
purchase a used car. If the interest rate on
this 72-month loan is 5.9%. howmuch wiill
Simone pay in total back to the bank?

T = 13500 (0-05A)( (,)
I = 47719

13500 + #7179 =]5 )32‘)9‘

51. Rylan placed $1.200 in a retirement account.
Seven years later, it had eamed $546 in
interest. Find the interest rate.

54 =1200 ()
54p = EH00 r
QYoo 8100

O.05 =r > ‘0-5”)0!

52. Alexia took out a 12-year loan for $72,000 to
renovate her home. If her monthly payments
are $680, what is the interest rate?

LEO (144) = A920

26920 = 12000 (r(12)
25920 = gL4p00r
84000 B(+H000

0.03 = r > (37,

53. How many years will it iake a $5,000

investment reach $7.500 at an 8% interest
rate?

2500 = 5000 (0-0%8)t

2500 = YHpot
Hoo H00
-2 =t

|L-25 years]
(lo ']H g(avs‘S

54. Andy took out a 5-yearloan at a 12.5%
interest rate to pay for a tip to Spain. If he
ended up paying $4.937.50 in interest, how
much was the trip?

Ha37.50 = p (0.125)(5)
4937.s0 = p (0. 25)
0.b25 0-b25

[# 7900 = p ]
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Date: Per:

Unit 4 Test
Ratio, Proportion, & Percent

Use for questions 1-2: Savannah sold boxes
of cookies to raise money for a field trip. The

1. What is the ratio of boxes of peanut butter
cookies to boxes of oatmeal raisin cookies?

table below shows how many boxes of each A 49 C. 35 30:18
type of cookie she sold. ) .
B. 9:4 5:3
: ® D
Type of Cookie | Number of Boxes
- 2. What is the ratio of chocolate chip cookies to the
Chocolate Chip 32 total boxes of cookies sold? ., o
Oatmeal Raisin 18 )
Peanut Butter 30 ® 25 C. 516
B. 5:2 D. 16:5 A
For questions 3-6, write each ratio in simplest form.
3. 14 inches to 4 feet 4. 8 cups to 12 pints
4 J
4g 1N 24Cues
. g: 24
A. 27 1448 @ 1:3
B. 7:2 B. 1:6
© 7:24 C. 2:3
D. 7:20 C D. 3:2 A
5. 5 gallons to 6 quarts 6. 54 seconds to 2 minutes
N2 J
Zoq-+t 120S¢€c
200
A. 3:5 A. 9:10 54:120
B. 5:3 9:20
C. 3:10 C. 2:27
(D) 10:3 D D. 27:2 B

7. Grant drove his car for 417 miles on 15 gallons
of gas. How many miles per gallon does Grant’s
car get?

A7 -
15

21-%
|

21:3 ™igal

8. The various prices of orange juice are given
below. Which brand costs the least per ounce?

Brand Size Price |
A Tropicana 59-ounce $3.99 fb.o
B | Minute Maid 130-ounce $6.99 $0.0
€| Simply Orange | 64-ocunce $3.84 0.0
(D) Sunny D 96-ounce $4.19 ¥0.0
D

oz

Wloz
1/02
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For questions 9-10, determine if the data in the table represents a proportional relationship.

If yes, give the constant rate.

9.

Tickets Sold 20 36 48 64
Revenue | $175 | $315 | $420 | $560
Proportional? Ef Yes [ No
Constant Rate: | #¢ 75 |1 | ot

10|
Minutes 2 14 26 38
Waterlevel(in)| 3 | 21 | 39 | 57
Proportional? M Yes [J No
ConstantRate: | |.5 in /min

11. Which ratios form a proportion? Check all that apply.

e e e e

= lu

P=5."

14. If 24 golf balls weighs 2 ¥4 pounds, how much
would 60 golf balls weigh?

24 - Lo
2.25 X
24X =135
24 24 ,

X= 5@5 | 5625 1b (53

15. Annie can make 18 baskets out of 30 attemps.
Her younger brother Cameron can make half
as many in the same number of attempts. How
many baskets can Cameron make in 50
attempts?

A =X

20 50

30X= 450
30 3! 5 15 bagkets

16. The blueprint of a fishing pier uses a scale of
iinch = 5 feet. If the pier is 19%inches long

8
on the blueprint, find its actual length.
0125 = 19.75
5 X
0-125x = A8.71S
0125 o125
X=Ta0 190 +

17. A model of the F/A-18 Hornet (a jet in the
Navy) is 16 inches long. If the actual length of
the jet is 56 feet, what scale was used for the
model? L

A. linch = 2.5 feet 50
(B) 1inch = 3.5 feet

C. linch = 4 fest

D. 1inch = 4.5 feet

B
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18. What is the scale factor of Figure B to Figure A?

19. Given the similar figures below, find the value

of x.
28 10
385
2
1 . 10 _ 1 “
28~ 4 X 3
. | bX= 280
L e H b b x=17.5 |¢
Y= 115
20. Given figure ABCD ~ figure EHGF, find EF. 21. Given AJKL ~ AMNL, find JX.
B X K
12 G J /
14 - F P 28 1v
4 M
NRE \/
c 24
12 E T H 3¢ /
3
) 18 24 _ 3L
12 _ 1S ISx =126 Z’g _ 1_0_23 K- 4
-~ — lo ! [ EF = ._H.&— = =42

22. A stop sign casts a shadow 8 feet long, while a
school bus nearby casts a shadow 12 feet long.
If the stop sign is 7 feet tall, how tall is the

23. An 54-foot tall office building casts a shadow
that is 48 feet long. If Mindy is 56" tall and
standing nearby, find the length of her shadow.

school bus? 54 - 55 54X = 204
1. X gx=%4 KL 54 =
3 12 g g x=H g

X=10-5 A 33feet € alfeet
4 3
1 8
B. 4_feet 4—feet
(100/2) !0'5.-F+ 2 @ 9 b
Use the diagram below to | 24- Which proportion could find x, the distance across Griffin Lake?
answer questions 24-25. A 64 x 64 84
84 92 92 x
Griffin
x 84 84 92
Lake B. ==5 D. —=22 C
* 25. Find x.
64 LUX="1728
84
X= 12075 (120 3/.;)! 120-7S 4
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1 '/z)



26. 78 is 65% of what number?

3. - LS

Vi 10D
[,5 X =1800
s b5
X = 120

[2.0

27. Of the questions on his math test, Shane
answered 42 correctly and 18 incorrectly. What
percent of the total questions did Shane answer

correctly?

Az o X

O [ 00
A. 7% =4200
B. 42.9% QLS OX O
(©70% =10
D. 74% X C

28. Of the 75 cars that Lindsay saw pass on the
highway, 16% had an out-of-state license plate.
How many had an out-of-state license plate?

29, The middle school track team consists of sixth,
seventh, and eighth grade students. The 5 sixth
grade and 9 seventh grade students make up
43.75% of the entire team. How many eighth

_}_(_. = _)_(e grade students are on the team?
TS oo M - 4375
100X = 1200 A. 16 X 100
o0 100 18 43.75X=1400
12 Cars p. 32 X=32 B
32-14 =1%8

30. Which coat has the lowest sale price?

A. a $62 coatat 15% off (%52.710)
B. a $74 coat at 30% off 05(.80)
C. a $58 coat at 10% off (852.20)
a $68 coat at 25% off & 51) D

31. The Clark family went out to dinner. If their
dinner bill came to $81.50 and they wish to
leave a 18% tip, how much should they tip?

Q1.50 (0.18) = 4.1

#lH.07

32. A televison that regularly sells for $749 is
marked down 15%. After it doesn't sell, it is
reduced another 20% from the sale price. What
is the total savings from the original price?
14a(0.15) = 112-35
T49 -U2-35 = (b36L.b5

® $23968  (,3(, .(,5(0.20)= 127.23
B. $262.15 (,30-lL5-127.33 = 5)9.3
C. $149.80

D. $218.32 A

33. Rick is buying a $115 tennis racquet from a
sporting goods store. If the racquet is on sale
for 35% off and sales tax is 8%, how much will
he pay in total?

I5(0-35)= Ho-25
H5-4o0.25 = 1415

74.75(0.08) =598
< 415+ 5.98 = 90.713

¥90.13
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34. Mark bought a concert ticket for $88, then sold
it for $121. By what percent did he mark the
ticket up?

|2|-8&
R

33
8%

= 0.315

37.59,

35. Lisa’s home is currently worth $152,000. When
she purchased it five years ago, it was worth
$180,000. Find the percent of change and
classify as a percent increase or decrease.

152000 = 180000
1ISC000
=2 (é 000
[80 000

=5 |55

A. 155% ncrease

(B) 155%decrease
C. 18.4%increase
D. 18.4% decrease

B

36. Nyla borrowed $3,425 from the bank at a simple
interest rate of 13.5%. How much interest will
the loan accure after two years?

1= 3425 (0:135)(2)
I=az24 75

#9224 75

37. If $800 is deposited into a new savings account
with a simple interest rate of 1.8%, what will be
the total amount in the acoount after 15 years?

T =800 (0.012)(1S)
T = 2l

R00+2l = [0

#1601,

38. Colton is buying a new $1,700 camera to start a photography business. He plans to finance the camera
and has two options. Option A offers a 18-month loan at simple interest rate of 4.5%. Option B offers

a 3-year loan at a simple interest rate of 2.5%.
A: 1700 (0-045)(1-5)

= Ny.175

B: 1100 (0.025)(3)
= 1271-50

A. Option A; saving $323
B. Option B; saving $323
@ Option A; saving $12.75
D. Option B; saving $12.75

C

39. Evan and Courtney borrowed $5,600 from their
bank in order to help with wedding expenses. If
the loan had gained $1,993.60 in interest after
48 months, what is the simple interest rate?

100 3.6:0 = 5600 (r) 4
1993 .0 = 22400
22400 22400

0.08A =v

3%

40. How many years would it take a $6,000 to triple
in value with a simple interest rate of 5%?

12000 = LOoO (0.05)T
12000 = 300 t

300 300
Ho =t
A. 20 years
B. 30 years
C. 35 years
@ 40 years D
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